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(=) f L I———

:1_;!- ,/’tan x
0
@ o i) %
veen T : T
(iii) Z (iv) 3

(%) %= f:R-R, f(x):éVxER g
gftyrfya 2, dt wed @\Q
(i)  Tkeh!
(ii) ag@g@m

(iii) qé:-@%m#ﬁ

(iv) « 7 @ THH SN T & TeoICH

(@) ak f: R ~ R & flx) = cos x I
g:R > R@E g(x) = 22, @ fag Hifdm 6

fog * gof.
(m) cot_l[— —\%] &1 g 9 §
@ 3 Gi) <
i = Gv) o A 9
324 (FF) 3 P.T.O.

() fag Hifvm & we[ flx) = |x|,x:0‘iﬁ‘&iﬂﬁ
2

(&) af A ABC® ¥ A(1,1,1),B(1,2,3) afie
C@, 3, 1) 8, @ A ABC %! &F6et a1 §hrg

LR
M 21 - G V22

2 3 _
(i) —‘EE (iv). o q *1§ TE

(%) y—xg =£{y2 -+%}@TEHWI

(@) 3 f:A—BIN g:B— CTHH 3, at fug
$ifog &6 gof : A — C oft wheh! B |
2

3
4 5\ @
13 1

(w) fag$ifsufs tan™? %+ tan~! % =

() ?IEA:LI

4

3
]HWIB:
3]

AB 991 BA =1 9F 7@ Hif¥ |
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4, Ffafgs gyt @vel # & i

(7) g %

(%) a2 A ABC ¥ i A2, - 6), B5, ), Ch, 4) [1+a 1 1 |
it Tae dea 35 ot 3 &, af g il 1 146 1 =abc{1+l+%+l]
a@ c
i p %1 A 12, -2 7 | 2 1 1 l+e
1) , r
(x-1 _afx+1 il | 3 3 -1
(@) 3R tan 1[ _2}+ tan™ [l 2;' 2 (¥) WA:j_z -2 1}@@141?&!3
' -4 -5 2
Eﬁll:\ﬂﬂ| 2 L _ _
aﬂﬁxi}mm HAHE 9 T fown-anfim emegg % Amwe
o ' * w9 § =1 Hifvw
() = |1y zx‘%?@msrmﬁﬁm 2 | |
1 @ (;{) ﬁ*z?ﬁﬁm%
Q\Q ‘tan~! 1+x-y1-= -ir-—icos‘lx'
(=) ﬁgﬁﬁu@»ﬁvﬁuw%aﬁ'ﬂ%ﬂﬂ | Jivx+ fI-x| 4 2
A T A TG T A \_ﬁ?—%ixil.
sin’l(lJﬁﬂT%I 2 2 . .
3 6. fmfafes § 4 5 oi'g @l = ga Fiftm -
5. fufan 7 8 foefl a7 TSl @1 S (%) forg i
@) AT R 4yP= T x -2 eyt =T 241 ab
— S FTd I 5 a ac
a e | ab  b2+1 be |=1+a2+b2+c2
(@) W:rrﬁ’lj— x dl__maﬁﬁ.ql 5 | ca b c?+1
(x -1 &% +1) _ _
T (@) Ife v wwaw grn Fdwis sl W ara:@rs
() & Hif 5 FIN: a, b, ¢ & 3 gEh gE-fag & 2t p 2,
(1+y2dx=(tanty —x)dy ﬁlfﬂ@ﬁm%—+w—i i:?:i2
a b ¢ p
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(M afd tan~lx +tany + tan~! z = x4, @ g
e F x+v+2=22 5

(9) agwd gHiHm

(xsmz(l]—yjdx + xdy = 0,

X

y:%ﬂ'ﬁ.’I:lﬂﬁﬂaaﬁﬁQ! 5
(z) g P 5
nf2
sy
Ilog (sin x)dx = gﬁ%%
0 S
&

\ 5
(9) P4 U B) ¥R R AR 2PA) = PB) = 13

afnPM]BJﬂgél 5

7. ﬁmﬁﬁﬁﬂﬂﬁﬂﬁwmﬁwzﬁm:

10 2
(%) (1 I A=|0 2 1}, @t farg ifre &
2 0 3

A3 _gAZ+TA+21=0. 4

Gi) 9 y=x0+2¢+6 ¥ 39 wfrddl &
Hﬁmﬂﬁﬁﬁm,iﬁf@x+l4y+4:{)
% gara & | 4

7 P.T.O.
324 (FF)

x AE x<1
5 Ak x>1

guutonfig R M RN, x =0, x = 1a
x=2WHA R ?

Gi) A y=ed®s X _1<x<l, @

(@) qﬁﬂ'ﬂ&):{

2
(1—3:2)(;&-—%’—1% —sz}':ﬁ_

8. Frofdfigs # 4 fef ver wve & & il -
(%) i afwell % wm g Featafiea e

WWWW
i3 -—2—\
A= -3 0 -5
L 25 uJ
(@) e x+1:y+1:z+1 .
7 -6 1
-3 y-5_ =z-T
=T 1 % o9 Ht =
e Hifau |
9. fr=afafed 4 @ fredht oo wve #t 8= fifsw
2 1 3
(WﬁuwWA: 4 -1 0| ¥ o
-7 2 1]
genfya T 6 A (adj A) = |A] T 3R
THH ok T ISy |
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(@) fag €fw & R fG=n & W ¥ safd (b)  If the order of matrices A and B are

fvrey gl vig w1 o M % respectively m x n and n x p, then the
mﬁﬁ@m% p ﬂrderofAﬂls:
(English Version) @)  pxm (ii) nxm
Instructions : (1) mxp {(iv) None of these
(i) First 15 minutes time has been allotted for the
candidates to read the question paper.
()  The degree of ' i .
(Gii}  There are in all nine questions in this iy gree of the differential equation
question paper. xy —= + x [E:E'.] ~y _‘}1}'_ ~92is
(rir)  All questions are mmpuf@
iv)  In the beginning ufm% question, the number (i) 0 (i) 1
of parts to be m’f ted has been clearlv Gi) 2 Gv) 3
et Hones !"
Marks allotte r&ﬁﬁli questions are indicate e
against them. (d}  The value of the expression
i)  Start solving from the first question and I B
proceed to solve till the last one. Jd RS
(vii} Do not waste your time over a question you i) © G 1
cannot solve, (i) 2 (v) 3
1. Attempt all parts of the following :
(a)  If L is a set of all straight lines in any ' /2
plane and relation (e} The value of I " dx will be -
R=1{Ly, Ly Lqis perpendicular to L., 0 +ytan x
is defined in L. Select the correct answer .
from the following : @ 0 - W %
(1} R is reflexive (i) K is symmetri o
(111) 1 iv) %
(ii1) K is transitive (vt None of these
324 (FF) 9 PO 324 (FF) 10
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2. Attempt all parts of the following :

(a)

(b)

(c)

@

(e)

324 (FF)

The function f: R — B, fix) = x*Vxe R
is defined, then fis :

(1) one-one onto

(ii)  many-one onto

(iii) one-one, but not onto

(iv)  neither one-one nor onto

If f: R - R where f{x) = cos x and
g ' R = R where g(x) = x2, then-prove

that fog # gof. 1
. SQ\Q i 1 .
The principal va@ of cot™ [- —] will
S V3
O
be : Q 1
S NG,
{i} § (ll] E
(iii) %n- (iv) None of these
Prove that the function f{x)= |x]| is
continuous at x = 0. 1
The area of A ABC, whose vertices are
A(l, 1, 1), B(1, 2, 3) and C(2, 3, 1) in
square units is : 1
(1) T (11) _“_'3
(iii) ? (iv) None of these
11 P.T.O.

3. Attempt all parts of the following :

d dy
(a) Solve y—x d_i =ﬂ[}’2 + aj
(b) T f:A— B and g: B — C are one-one,
then prove that gof:A—C is also
one-one.
s 2 2 3
(c) IfAz[ ! landB= 4 5|, then
-4 2 b5
3 1|
find AB and BA.
(d) Prove that tan™l 11 + tan™! 1 =,
2 3 4
4.  Attempt all parts of the following :
(a) If vertices of A ABC are A(2, ~6), B(5, 4)
and C(k, 4) and if the area of A ABC be
35 square units, then prove that the
value of & will be 12, - 2.
-1
(b) If tan ( } + tan™ { ) % then
find the value of «.
(¢)  Find the value of the determinant
\ 1 x vz
1y 2x|.
1z
324 (FF)
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(d)

i is sin~! (-1-} 2
and mammm volume is 3
Attempt any - five parts of the following :
(a) Find the area between regmn of two
circles ¥2+y2=4 and (x- 2)° +y =4. )
. al 2t dx 5
(b) Find the integr D a1
(¢) Solve: . \\Q 5
(1+y) dx ,g& Ly ~x)dy
5
(d) Show that: @Q
l1+a % 1
1,11
1 1+ b 1 = ﬁbf (1 + E + 5 c)
1 1 1+c¢ _
. _ .3 3 -1
(e) Express the matrix A=|-2 -2 1
-4 -5 2
as the sum of a symmetric and a skew .
symmetric matnx. '
(f) Provethat:
__1'71|i1+x-1f1 x =£.__ -1:1:,
,}1 +x+ 1% 4 2
1 5
- — %x<1
where 7
324 (FF) 13 PTO.

Show that the cemi-vertical angle of

right circular cone of given total surface

6. Attempt any five parts of the following :

(a)

(b)

(c)

(d)

(f)

324 (FF)

Prove that :

al +1 ab ac |

ab b2+l be | —1+a2+b?ac?
|; ca cb e? +1 J|
If @ b ¢ are the intercepts on

coordinate axes respectively by a plane

‘and its distance from the origin is p,

1 1 1

then prove that i +— 7 -
a? b ¢ p

If tan! x + tan~1 y + tan~! z = 7, then
prove that x +y + z = xyz.

Solve the differential eQuatinn

r II,-'
I'xsin‘2 =
i [ -

T
= if x=1.
¥ 4

;
yjdx+xdy= 0,

il
Prove that Ilog (sin x)dx = glog %
0

Find P(A U B), if 2P(A) = P(B)
2

5

= —5— and
3

PIA|B) =

14

Download all NOTES and PAPERS at StudentSuvidha.com

o

o


http://studentsuvidha.com/
http://studentsuvidha.com/

7. Attempt any one part of the following : 9.
10 2]

IfA= 0 2 1/, then prove that
203

A% -6AZ+7A+ 2 =0, 4

(ii) Find the equations of the normals, to

the curve y = 13 + 2 + 6. which are
parallel to the line x + 14y + 4 = 0. 4

(a) (1) (a)

(b) (i) Isthnfunctionfde&ﬁned by (b)
(x i SE2

fix) = ?&‘*
5 r>1

O
:}::D,.&&m}dz=2? 4

(it If _\'§’Qr‘”“”'l’ -1 < r < | then

continuous at

»

flﬂ.rf"!g::r—:‘g*-aav-ﬂ, 4
dx? dx |

8.  Attempt any one part of the following :

By using elementary transformation,
find the inverse of the following matrix: &
13 -2
A= 1-3 0 -
. 2 5 -0,

()

LI ]

b1 Find the shortest distance between the

324 (FF) 15 P.T.O.

. 324(FF)

Attempt any one part of the following :

Verify : A. (adj A) = |A] [ for the given

2 1 3
matrix A = 4 -1 0] and find its
-7 2 1
in}.rerse.

Prove that the volume of the largest
right circular cone that can be inscribed

in a sphere of radius R is ;—T of the

* volume of the sphere.

16
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